
TOPIC

3Fluency Practice
What’s the Message?
In each row, determine which equation has the 
greater solution. Circle the letter next to the 
equation with the greater solution in each row. 

3x + 8 = 12 G
 

N 5x - 4 = 5

15 + 2n = 57 I R 3d - 7 = 53

8x - 12 = 14 A C 12 + 6p = 36

54 = 14 + 8c W E 8m - 14 = 50

12x + 16 = 100 B X 6z - 24 = 12

59 + 81w = 68 E D 40r + 67 = 71

31g - 15 = 47 R L 99 = 22 + 35y

14r - 7 = 14 S T 13 = 12t - 8

What does the zero say to the eight?

!

I can…
solve linear equations in one 
variable. 8.EE.A.7
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